c R A F T Show All Your Working Out

Re-Teach

Consolidate

Master

1.
Solveforx:x+7=15

2.
Solve for y: 3y = 21

3.
Solvefora:2a-5=11

4.
Solve forb:b/4+2 =15

5.
Solveforn:3n+1=2n+7

1.
Solve for x: 5x -8 = 22

2.
Solve for y: 4(y + 3) = 32

3.
Solve for a: 2(3a-1) = 16

4.
Solve forb: 5b +3=2b + 15

5.
Solveform:4m-7=m+ 11

1.
Solve for x: 3(2x-5) +4 =19

2.
Solve fory: 2(y +3) -3(y-1) =11

3.

Solve the simultaneous equations: x +y =
lI10andx-y=2

4.

Solve the simultaneous equations: 2a + b =
llanda-b=4

5.

Solve the simultaneous equations: 3p + 2q
=16and2p+qg=9




Answers

Re-Teach Answers

1.
x=15-7=8
2.
y=21+-83=7
3

2a=11+5,2a=16,a=8

4.
b/4=5-2,b/4=3,b=3%X4=12

5.
3n-2n=7-1,n=6

Consolidate Answers

1.
Bx=22+8,5x=30,x=6

2.
4y +12=32,4y=32-12,4y=20,y=5

3.
6a-2=16,6a=16+2,6a=18,a=3

4.
5b-2b=15-3,3b=12,b=4

5.
dm-m=11+7,3m=18, m=6

Master Answers

1.
6x-15+4=19,6x-11=19,6x=30,x=5

2.
2y +6-3y+3=11,-y+9=11,-y=2,y=
-2

3

Adding the equations: 2x = 12, x = 6. Sub-
stituting: 6 + y = 10, y = 4. Solution: x =6, y

4.

Adding the equations: 3a = 15, a = 5. Sub-
stituting: 5-b = 4, b = 1. Solution:a=5,b
=1

5.

From second equation: g = 9 - 2p. Substi-
tuting: 3p + 2(9-2p) = 16,3p + 18 -4p =
16,-p=-2,p=2. Thenqg=9-2(2) =85.
Solution:p=2,g=5
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